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Answer the following quadratic equation. Xax2+bxte=00Lt=D=b2—4 qac
nw En B . Find the values of m when the following quadratic equation has multiple solutions.
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Find the value of a when x=2 for one solution to x2 — 3x+a=0. HoLk X , m® {Eﬁ % ;k O I,
ot s Find the values of m when x2+mx+m—1=0 has multiple solutions.
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When one of the solutions of x2+(a—2) x—6=0 is 2, find other solution.
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Solve the following application problem.
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by st L Multiply the numbers on the top and bottom of the calendar to get 30.
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b Lz »y
L@%ﬁ(% 4 L, D FZ 7 Al D,
(x~2)(x+3): x k95 T x+7 (%5
. x(x +7) =30
x=2,-3 ORI —3 (D, 247 x —30=(x —3)(x +70) =
bAEL gargc
%%@xﬂﬁz@x—6—0@m@1om3@gg x=3 ,—/0 x=—703FEATHS,
oo it % R & X =3ThHBMS,  3E10 kB,
@/7‘ ; Lrs fu) e 7
5 B A —D FFIC S % BT T 601
e bL
b, ZTDO2O00KERD X




i3

L EH L& B kD noEw

mﬁ&twrm 2 #8

EC B & )

1.

L 1EH> Tw L&
ﬁ@2&ﬁ%; mfﬁz;

Answer the following quadratic equation.
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Find the value of a when x=3 for one solution to x2 — 6x+a=0.
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When one of the solutions of x2+(@—1) x—8=01is 4, find other solutions.
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Find the range of values of m when the following
quadratic equation has no solution.
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Find the range of values of m when x2+4 x —m=0 has no solution.
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Solve the following application problem.
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The sum of squares of two consecutive natural numbers is 41.
- - Find the smaller number.
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X2+ (x +7)2= x4+ x2+2 x +7=47
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Answer the following quadratic equation.
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Find the value of a when x=—1 for one solution to x2 —2x+a=0.
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When one of the solutions of x2—(2m+1) x+3m=0is 2, find other solutions.
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Find the range of values of m when the following
quadratic equation has two different solutions.
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Find the range of values of m when x2+4 x+m=0
has two different solutions.
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Solve the following application problem.
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A square field was made 1 m long and 2 m wide.The field has become 3
times its original size. Find the length x of the original field side.
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Answer the following quadratic equation. Solve the following application problem.
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Find the values of @ and b when the solutions of x2+ax+b=0 are 2 and 3. 'lhe.area ofa horlzqntally long r.ectangular f.‘leld with a
perimeter of 108m is 629 m2. Find the vertical length.
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Find the range of values of m when the following
quadratic equation has real solutions.
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Find the range of values of m when x2—8 x+m=0 has real solutions.
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